ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: RUTHERFORD

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$0,00	\$0.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$150/m.	\$150/hr.
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$0.00	\$0.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	#0.00	\$0.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$200/m.	\$200/hr.
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	7.0.7	#225/ns.
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$15/m.	\$175/hr.

Contractor: Mitch Contracting	Co. En	.Cı
Contractor: Mitch Contracting, Address: POBOX 207 (2709 Grassy	KnobRe	d) Mill Spring NC 28756
Phone: <u>8 28 - 252 - 0694</u> F	ederal Id: _	56-1210441
Contractor's License Number: 69291		
Authorized Agent: Emory Mitch	hell	Title: President
Authorized Agent: Emory Mitch Signature: Emory Mitch		Date: 2/21/25

TOTAL BID FOR PROJECT: \$ 226, 500

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: RUTHERFORD

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Stewarts Grading & Having Inc.

3420 NC 8/US, Germanton, NC 27019

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the Standard Specifications, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$ 0.00	\$0.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$ 115,00	\$57,500
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$125.00	\$62,500
4	Quint-Axle Dump Truck W/ Operator	500	HR	8 O.CO	8 0.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$150,00	\$22,500
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$175,00	\$26,250
_	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$125,00	\$62,500

TOTAL BID FOR PROJECT: \$ 231, 250
Contractor: Stewarts brading + Having Inc
Address: 34 to WC 8 /LET Hory bermunton NC 27019
Phone: 336 467-347/ Federal Id: 20 84105 48
Contractor's License Number: 6898/
Authorized Agent: Adam Stewart Title: Treas use
Signature: Date: Z-1Z-25

\$ 231, 250

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID:

D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

RUTHERFORD

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

367 Found Ridge Road Taylors Ville 1

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

TOTAL BID FOR PROJECT:__

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	98,00	\$ 49,000,00
2	Tri-Axle Dump Truck W/ Operator	500	HR	103.00	\$51,500,00
3	Quad-Axle Dump Truck W/ Operator	500	HR	108,00	\$54,600.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	108,00	\$54,000,00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	128,00	\$ 19,200,00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	160.00	\$ 24,000,00
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	138,00	#69000.00

Contractor: KKR Enterprise L.L.C.
Address: 367 I card Ridge Road Taylorsville NC Phone: 828-234-8108 Federal Id: 33-151953
Phone: <u>828-234-8108</u> Federal Id: <u>33-1519553</u>
Contractor's License Number:
Authorized Agent: Kevin Riche, Title: owner/president
Signature:

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

RUTHERFORD

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

30 E Court unit 2134 ADDRESS OF BIDDER

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$10000	\$ 50,000 20
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$110 00	\$ 55,000 00
3	Quad-Axle Dump Truck W/ Operator	500	HR	811500	\$ 57,500 00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$12000	\$40,000 00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$ 12000	\$18,0000
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$12000	\$ 18,000 50
_	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$13000	\$ 65,0000

TOTAL BID FOR PROJECT: 4 323, 50	
。 第二十二章 1987年,1987年,1987年,1987年,1987年,1987年,1987年,1987年,1987年,1987年,1987年,1987年,1987年,1987年,1987年,1987年,1987年,1	等的。2010年1月1日 - 1801年1月1日 - 1801年1月1日 - 1801年1月1日 - 1801年1日 - 1801
Contractor: Kelly Logistics and Transpor	tation LLC
Address: 130 E Court St 29 unit 2134	Rutherford ton, NC 28139
Phone: <u>828-919-0584</u> Federal Id: <u>84-</u>	5111 244
Contractor's License Number:	
Authorized Agent: Tamiko Kelly	Title:Owner
Signature:	Date: 3/3/2025

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: RUTHERFORD

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	98-	49000-
2	Tri-Axle Dump Truck W/ Operator	500	HR	108-	54000-
3	Quad-Axle Dump Truck W/ Operator	500	HR	118-	59000 -
4	Quint-Axle Dump Truck W/ Operator	500	HR	128-	64000-
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	128-	19200-
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	128-	19200 -
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	128-	64000-

TOTAL BID FOR PROJECT: 328400-
Contractor: Shown Lacker Excavative LLC Address: 309 Johnson Farm Pd Hiddenite Nc 28636
Phone: 7048803301 Federal Id: 56-2194092 Contractor's License Number: 88403
Contractor's License Number: 88403 Authorized Agent: Kan G Lade Title: Aves Signature: Hail Lade Date: 314 25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: RUTHERFORD

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

CLATE LLC

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

ADDRESS OF BIDDER LA Taylovsville NC 88681

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	107-	53500-
2	Tri-Axle Dump Truck W/ Operator	500	HR	110-	58500-
3	Quad-Axle Dump Truck W/ Operator	500	HR	127-	63500-
4	Quint-Axle Dump Truck W/ Operator	500	HR	137-	(08500-
-	Road Tractor w/ Flatbed Trailer & Operator	150	HR	137-	20550-
	Road Tractor w/ Lowboy Trailer & Operator	150	HR	137-	20550-
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	IIR	137-	68500-

8
8
_
-

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: RUTHERFORD

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

ADVANCED HAULING LLC

NAME OF BIDDER

62 S LINDON COVE RD, CANDLER, NC 28715

Contract Number:

D13POC.081.19231

TOTAL BID FOR PROJECT: \$360000

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$120	\$60000
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$125	\$62500
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$125	\$62500
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$125	\$62500
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$125	\$18750
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$125	\$18750
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$150	\$75000

ADVANOED HALLING LLO	
Contractor: ADVANCED HAULING LLC	
Address: 62 S LINDON COVE RD, CANDLI	ER, NC 28715
Phone: 828.747.2919	Federal Id: 93-4814117
Contractor's License Number:	
Authorized Agent: Vasiliy Klimovich	Title: OWNER
Authorized Agent: Vasiliy Klimovich Signature: Vasiliy Klimovich	Date: 03/04/2025

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: RUTHERFORD

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

P.O. BOX 1527 FORST City, NC 28043

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	100	5000
2	Tri-Axle Dump Truck W/ Operator	500	HR	115	57500
3	Quad-Axle Dump Truck W/ Operator	500	HR	120	60000
4	Quint-Axle Dump Truck W/ Operator	500	HR	130	65000
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	200	30000
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	200	30000
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	200	100000

TOTAL BID FOR PROJECT: \$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
Contractor: hittle is Enterprise LCC Address: P. D BOX - 1527 Forest City NC 28643 Phone: 828-429-5722 Federal Id: 46-2992143
Contractor's License Number: Authorized Agent: JAMES CAMP Title: MR9 Member Signature: Date: 3/5/25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: RUTHERFORD

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Forga Contracting, Inc.

NAME OF BIDDER

PO Box 586 Hazelwood, NC 28738

Contract Number:

D13POC.081.19231

TOTAL BID FOR PROJECT: \$407500.00

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$160.00	\$80000.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$165.00	\$82500.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$170.00	\$85000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$0.00	\$0.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$200.00	\$30000.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$200.00	\$30000.00
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$200.00	\$100000.00

Contractor: Forga Contracting, Inc	
Address: PO Box 586 Hazelwood, NC 287	38
Phone: <u>828-506-1158</u>	Federal Id: 56-1928453
Contractor's License Number:	
Authorized Agent; W. Scott Forga	Title: President
Signature:	Date: 03/03/2025
	/

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: RUTHERFORD

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Shearon Trucking and Excavating LLC

NAME OF BIDDER

6125 Hwy 41A, Pleasant View, TN 37146

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$125.00	\$62,500.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$150.00	\$75,000.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$160.00	\$80,000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$160.00	\$80,000.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$150.00	\$22,500.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$180.00	\$27,000.00
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$180.00	\$90,000.00

ontractor: Shea	ron Trucking and Ex	cavating LLC	
ddress: 6125	Hwy 41A, Pleasant \	View, TN 3714	6
hone: (615) 982-9892	Federal Id:	92-26	64162
ontractor's License Number:			
uthorized Agent. Joe	y Shearon	Title:	Owner
gnature:	y Sileaton	Title: Date:	Owne

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

RUTHERFORD

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.			BID BOND IS NOT REQUIRED.			
Phil Rogers	F	2/1			rseman.	
NAME OF BIDDER		THE RESERVE OF THE PERSON OF T				8
492 HUSCUSSON	dr	Fran	Klin	NG	2873	4
ADDRESS OF BIDDER		/		The state of the		

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	125.00	62,500.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	150.00	75.000.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	150.00	75.000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	180.00	90.00000
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	150.00	22.500.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	150.00	22.500.00
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	180.00	90.000.00

TOTAL BID FOR PROJECT: \$ 437.500.00

Contractor: Phil Rogers Horsemanship
Address: 492 HUSCUSSON Dr Franklin NC287
Phone: 828-200-2901 Federal Id: 33-27/238/
Contractor's License Number:
nicl o

Authorized Agent: Phil Rogers Title: Owner

Signature: Phil Roger Date: 2/23/2025

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: RUTHERFORD

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Kems Thulking, Inc.

NAME OF BIDDER

P.O. BOX Z79 Kings Mountain, NC 28086



Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County: Rutherf

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	125.00	\$62,500.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	125.00	\$62,500.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	125.00	\$62,500.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	195.00	\$97,500.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	250.00	\$ 37,500.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	300.00	\$ 45,000.00
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	200.00	\$ 100,000.00

Contractor: Lens Triking, Inc. Address: P.O. Box 279 Kings Mantain, NC 28086
Address: P.O. Box 279 Kings Mantain, NC 28086
Phone: 204-739-4747 Federal Id: 56-0948894
Contractor's License Number:
Authorized Agent: Clyde C. Kens Jr. Title: President
Signature:

TOTAL BID FOR PROJECT: \$ 467,500.00

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

RUTHERFORD

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Paul L. Dillard DBA: Foothills Masonry + Excavation, LCC

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	# 175	\$ 87,500
2	Tri-Axle Dump Truck W/ Operator	500	HR	# 175	\$ 87,50U
3	Quad-Axle Dump Truck W/ Operator	500	HR	# 175	\$ 87.500
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$ 200	\$ 100,000
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$ 200	\$ 30,000
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	* 200	\$ 30,000
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$ 200	\$ 100,000

TOTAL BID FOR PROJECT: \$522,5	500 02
Contractor: Paul L. Dillard DBA: Fosthills	5 Masonry + Excavation,
Address: 698 Sam Poole (N. Jan 10	orsville NC 2868)
Phone: 838-67 Federal Id:	56-2177862
Contractor's License Number:	
Authorized Agent: Pay L. Dillard	Title: OWNEY
Signature: Jul Z	Date: 2-17-25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

RUTHERFORD

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

BID BOND IS NOT REQUIRED.

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	250.00	125000.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	250,60	125000.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	250,00	125000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	250,00	125000.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	300,00	45000.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	300,00	45000.00
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	300,00	150000,00

TOTAL BID FOR PROJECT: \$740, 500.00
Contractor: Celunty Boy Cources Coping, Inc. Address: P.D. Box 290 Harmony N.C. 28034 Phone: 704-924-9330 Federal Id: 56-2157111
Contractor's License Number: 67108 Authorized Agent: Chris C Cartner Title: President
Signature: Date: 3/3/25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.081.19231

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

RUTHERFORD

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

The Freedom Shield LLC

NAME OF BIDDER

P.O. Box 112 Skyland, NC 28776

BID FORM

Contract Number:

D13POC.081.19231

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Rutherford

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE # DESCRIPTION QTY UNIT UNIT PRICE AMOUNT BID Tandem-Axle Dump Truck \$182 \$91000 W/ Operator 1 500 HR Tri-Axle Dump Truck W/ \$189 \$94500 Operator 2 500 HR Quad-Axle Dump Truck W/ \$194 \$97000 Operator 3 500 HR Quint-Axle Dump Truck W/ \$309 \$154500 4 Operator 500 HR Road Tractor w/ Flatbed \$643 \$96450 Trailer & Operator 5 150 HR Road Tractor w/ Lowboy \$96450 \$643 Trailer & Operator 6 150 HR Road Tractor w/ 50 Ton \$643 \$321500 Dump Trailer & Operator 7 500 HR

TOTAL BID FOR PROJECT: \$951,400	
Contractor: The Freedom Shield	
Address: P.O. Box 112 Skyland, NC 28776	
Phone:937-397-9630 Federal Id:	
Contractor's License Number:	
Authorized Agent: Samuel Sell	Title: <u>CEO</u>
Signature: Samuel Gell	Date:2/28/2025